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 �����1   


	�رة آ����� m 900kg=  �	�
� ����� ��	���� ���� ��� �����0V/ا 100km h= 
 ����� ����  
d,و�! 97 0m=  �	!�#$ة ا
t,'&ل ا$� 6 54s∆ =  ()*� ��+&,� �- .+ ،

 01�-� .  
5
د ا$��1@ ا$;ي ا'��+< $��9ب ه;: ا$�� � . ا$�9آ	� ا8$
�	� $��	�رة ــ أ4�5 ا$�� �  1 .  
2  ����C ��+
D ,&ت�ف ا$���� ��� ا$�� G� ��8��$�5(�ك اI�8 أن  .ة ا���  . ــ 

  أ ــ ا�1د ا$�.ى ا$���8� ��� ا$�	�رة 

ة  .ة ا�5I(�ك ا�8��$� �G ��ف ا$���� ��� ا$�,&ت D 4�5ب ــ أ .  

  . ا$�
رة ا$��.
�� $�.ة ا�5I(�ك '&ل ا$(M8 ــ أ4�5  3

CEــ  1: أ1.��  347kJ=  2  ب ــ ــf 3580N= 3  ــ( )m f 53kW= −
�

PPPP  

 �����2   


	�رة آ����� m 800kg=  �����
72km/و h  ه8.ط ��5آ �� ���� ��� ��	����
��4α��� �#او��  = ���� , ��$!�8� M��$ اQرض  ° �� 
�.01 ا$���� �1.� #1�9B  ��T�� ،

 ���� G� � &������� ا$�	�رة اA  ��9� ،,d	V أن ا$��� AB 92 0m= =  .  
  . ــ ا�1د ا$�.ى ا$���8� ��� ا$�	�رة  1
2 (WD �	8�+ 

ة  .ة ا�5I(�ك .  Bإ$�  Aه;: ا$�.ى '&ل ا����ل ا$�	�رة �G  أو1D Y�!�
وا


ة وزن ا$�	�رة . ا$�� ����8ه� ���C� '&ل ه;: ا�5��$� *� ���  . و �ر
 �����3   

 G	��1 �8���S  وS’  �$آ������ ��� ا$�.اM  وM’  اد
��Iا (��  �	^ _	' ��
��+�8	G �.ا

ون ا�5(�ك وآ����� �����  P وآ���< ����� ��� �G �,�ى �(�ة� . �a9�$ا 
!�=0t 0 

}ا$�,�.��  }, 'S Sن.)
 �$�5 ��  
���  ���h ار+-�ع  S'و�.1Qا M��$ا G� .  ك���'S 


�.ط  ���
�	!#$� ا$,�c  رأ �	�
� ���

ون �S  ا$���.ى ���( )π  . ��8 أن �5آ���

)ا$,�c ��� ا$���.ى  )π  ل&' ����C ��8+ �5(�كI�� ��+��5I�� c(�ك وأن ا$�.ة ا$���و

��	,� ا�5I(�آ�ت ه� Sا$,�c وأن ا$����� ا$���.�� �G ��ف . ا$�9آ�  >- .+ (8 d  
( )d h>  . ات ا$�.اء�	Ce+ (���.  

9
ث '&ل 
�.ط  fg �� ــ 1	
'S M��$9. ا�
 ���Qا .  

2  c�,$ا ��� �ــ ا�1د ا$�.ى ا$���8'S  ل&'
���8	� ��8ه!� ا$�� � ا$�9آ	� �	G . ا$��.ط  
 G	�a9�$0اt  1وt  ) M��$إ$� ا c�,$ل ا.gو �a9$

 ���Q)ا  �ا$��� �	8�+ 

$I�  vأو1�', , ,M g h T  .v 
 c�,$ا ���
'S ���Qا M��$إ$� ا >$.gو 
!� .T 

 c�,$ا f .+ (8  _	k$ة +.+� ا
D'S  .  
3  c�,$ا ��� �ــ ا�1د ا$�.ى ا$���8S ل ا&' > I#�

)��� ا$���.ى  )π  ��5�� (آ �� .  

4  G	�a9�$ا G	� �	ا$�9آ �ا$��  ��8ه!� �	0ــ ���8t1وt 
 G	1و�t 2وt 8��$�5(�ك اIة  .ة ا
D أن G	� �ل �5آ&' c�,$ف ا$���.ى ��� ا�� G� ��

S  �$��$ه� آ� :  
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( )
'

'

MM gh
f

M d h Md
=

− +
  

�	�� ا$,�9�2t  c	V أن  f .�	
)��� ا$���.ى  Sاa9�$� ا$��  )π�5(�آ�Iا �,	��  ت 

���� �4  

�8��� c�,$ا S  آ����� �د��� �آ!��,m 0 690kg=  ��9ك ��� ���.ى ���) �(.ن زاو���

20α = °  ���Qا$���.ى ا @� .c�,$ا  �8_ �!��+��O  ، أ��� �� 
 ا$���.ى ا$���) ،+.1
.  .دي ��� ا$�9.ر ا$;ي ��� �!�� وا+,�ه< ���.ا
�� '	_ آ���< ����� و^	�  ��) $&��
اد 

 _	k$0,�.ل ا 500m=ℓ ;'e�, /g 9 80N m= .  
  
  
  
  
  
  
  
  
  
  
  
  


�	�  �I!��� ا$,�G� c ا$!��� � �����1v  ���8 ��.+�ا '&ل ا$�9آ� _	k$�8 أن ا���. آ�� 
����8 ا$��1@ ا$;ي +
رس �	< ا$�9آ� ا$��+Q�� _8رض ��1�� ^�$	�	�  .  

1  c�,$ا �ر �5آ��� ()D .ــ �� هS  ؟  

�� ��� ا$,�T.� G� c@ . ــ ����8 أن ا�5I(�آ�ت ����� �	G ا$,�c وا$���.ى ا$���)  2!�

0v/ � ��آ#  v.ر:  	���� ه� �+(.ن 
� O+.از�< ا$�����  2m s=  . ��8��$أ�1د ا$�.ى ا
  . ��� ا$,�c و����w ��� ا8�$	��� ������د ا+,�ه�ت ه;: ا$�.ى 


 وg.ل ا$,�c ا$!��� !�F  ،4�5؟  أ �ه;: ا$!�� �� >���
  

���< +(.ن  5	V ا�5I(�آ�ت �	G ا$,�c وا$���.ى ا$���) ، �� ا$�9	�� ه!�ك ــ  3 ��	 

 �
�� ا$!��� ا$���F  ه�, /Fv 0 500m s= . ��+
D �5(�ك ��.ةIن  .ى ا���f ��8+

+�� . ���C� '&ل ا$�9آ� D 4�5أ .  

 �����5   

,$zرض �5آ� دا���� 5.ل ا$*�D ، y��ع ه;ا ا$���ر ا$
ا��ي ه.  . 8R 1 5 10 km= .  

��.�� آ��� اQرض  24

TM 6 10 kg=  �����DوTR 6380km= .  

 �����D �������8 أن اQرض آ�ة ��,�TR وآ�����TM $�9.ر �ره� ��$!�8.v  أ4�5 �#م ،
.5 ���  . ل ه;ا ا$�9.ر ا8��$	c+ G �� ��� ا$�9آ	� $�
وران �!
 دورا

�� �5آ��� 5.ل ا$*�y أ4�5  2 �	���  . ا$�9آ	� $|زا5�  �� ���ــ ����8 ا}ن اQرض 
 �����6   


ور أ
�.ا�� ذات �#م  v.ر +. .2 2J 3 10 kg m∆ =  ��/����� +.ا min45tr . f .� ��
!�
)�5Iا �دو1#� �	Ce+ �9+ ��
�.اQا f .�+ أن +!,# ا$��9ك 
  . دورة �120ك ��

1  ����C :�8���  . ــ �	G �#م �#دو1� ا�5I(�ك ا$;ي 

�.ا�� ����� ���C� +��وي  2Qور ا
��
 ا$��9ك ، �
1 G� (W*�/ــ  min45tr  . Y�!�
ا

  . WD) ا$��9ك '&ل د 	�� وآ;ا  
ر+< 
 �����7   

>8��� ا$*() �1 ��w��$ا �ن ا$�,�.�.)�+  G� :  
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 * �����D ���أ��� �!��8 �@ �9.ر ∆ ���� $�
وران 5.ل �9.ر  Mوآ�����  �r(�ة ��,�

)+�����C ، �#م  v.ره� ��$!�8� $�9.ر ا$
وران  21: ه. ∆(
J Mr

2∆ =  

 * 4�g c�1S �������� ���ف '	_ ^	� �
ود ، ��-.ف ��� �,�ى ا$8(�ة ،  m، آ���<  
  . و����8 أن ا$k	I _ �!#$� ��� �,�ى ا$8(�ة أC!�ء ا$�9آ� وأن آ���< ����� 


�	� ا��& � �G ا$!���  Sــ ��9ر  1� ���

ون �A  ار+-�ع ��� 

�h  Mوا$�� +.1 G�
 �a9�$ا 
0tاQرض �! 0=  

����8ه� أg& $��.ار��  .  

Cأو1
 ا$!�8�  1ــ  1 2

C1

E
b

E
=  V	5C1E وC 2E � ��$ا

 �a9�$ا 
  . وا$8(�ة  t  c�,�$ @����$��(S)ا$�9آ	� �!
}  �S(�ة ، { �� أو1
 +�8	� ا$�� � ا$�9آ	� $��,�. 2ــ  1

 �a9�$ا 
!�t  �$I
�, , C1m M E  .  
2  ��� cC ا$8(�ة ��� �	ا$�9آ �ا$��  ��8ه!� �	ــ ���8

(S)  G	�a9�$ا G	�At  وBt  c�,$ا ���
 �	8�+ 
، أو1

( )S �a9�$ا 
!�Bt  �$I
�, , ,m M g AB  .  

3  c�,$ا (v-�
م  G�A ا$k	_ و����< �G ا$!���  (S)ــ �vو� _��	� �	�
� ���

ون �
����0v�  M���C اQرض �!
 ا$!��� 

�
  ����� ���Q9. ا� 
+�� V	51v ev= −� �

 � @

0 e 1< < .  

I$�  1ــ  3� 
e,أو1 h  ر+-�عI1اh  c�,$< ا	إ$ (v� ي ا$;ي.v�$ا(S)  ولQاد ا

 اIر+�� .  


I$�  2ــ  3� 
e,أو1 h  ر+-�عI2اh �$ا ���w$اد ا

 اIر+�� c�,$< ا	إ$ (v� ي ا$;ي.v .  


I$�  3ــ  3� Y�!�
,ا ,e h n  c �$اد ا

 اIر+�� c�,$< ا	إ$ (v� ي ا$;ي.v�$ر+-�ع اIاn  .
�� $�5� 5hأ4�5 n e,: ���� أن =5 0 hو =9 1m=  .  

  


